 Nordson

ELECTRONICS SOLUTIONS

SELECT Synchro Spares List

A range of spare parts are available to support Nordson Electronics Solutions products, keeping them running at
peak performance. Nearly all spare parts are sold as part of a spares kit, with a few exceptions.

How to Locate and Order Spare Parts

If you are referring to the User Manual to complete a procedure, you can search for a Kit Part Number or an
individual Part Description to identify the kit or individual part you need to complete the procedure.

If you have a part number, search the Lookup Part Number column in the tables below to identify whether the
part is sold in a kit or as an individual part. You will find it in the Spares Kit List table if it's sold in a kit. You will
find it in the Individual Part List table if it's sold as an individual part.

To locate a kit or individual part, do the following:

1. Download this file and open it in a browser such as Google Chrome.

2. Use your browser’s search feature to search for a Kit Part Number, individual Part Description, or part
number.

o Ifthe partis sold in a spares kit, refer to the corresponding columns in the Spares Kit List table
for details about the kit. Use the Kit Part Number to order the kit.

o Ifthe partis sold individually, refer to the corresponding column in the Individual Part List table
for details. Use the Lookup Part Number to order the part.

3. To request a quote, do the following:
o Click here.

o Locate your region and click the Email link.
A draft email addressed to the recipient you selected is displayed.

o Inthe Subject field, type New Request for Quote.
o Inthe body of the email, provide the following information:
= The Kit Part Number(s) for the kit(s) you want to order. And the quantity of each kit.

= The Lookup Part Number(s) for the individual part(s) you want to order. And the
guantity of each part.

=  The Ship To information: company name and complete shipping address.
= Your name, phone number, and email address.

o Click Send.

June 2024 1


https://www.nordson.com/contact-us/contact-electronics-solutions/02---main---order-spare-parts

SELECT Synchro Spares List

Spares Kit List

All parts listed in the following table are sold only within kits, not individually. The information in the Lookup Part
Number column allows you to locate a part that you previously ordered separately but is now only available as
part of a kit. The Quantity column shows the quantity you will receive for each part in a kit.

SYNCHRO PUMP SYSTEM 6155460
DISTANCE PIN 2 6153501
SPACER 1 6153502
HEXAGON SOCKET SET SCREW WITH 3 6153726
CUP POINT DIN 916 STAINLESS STEEL A2
M4X6
BEARING SUPPORT 1 6153060
COUPLING, STRAIGHT M5 @6 PUSH-IN 1 6154035
HEXAGON SOCKET HEAD CAP SCREW 4 6153717
DIN 912 STAINLESS STEEL A2 M4X16
M5 BALL POINT SET SCREW S.ST 1 6153736
FLANGE 1 6153366
HEXAGON SOCKET COUNTERSUNK HEAD 4 6153721
SCREW ISO 10642 STAINLESS STEEL A2
M3X8
PULLY, BIG WEBBED 1 6152070
SOCKET HEAD CAP SCREW M5X16 WITH 1 6154478
WASHERS
PROPELLER WITH AXIS, SYNCHRO 1 6154475
PROPELLER HOUSING 1 6153439
HIGH TEMP. BALL BEARING 2 6153244
KIT REAR PARTS POT 6155463
COUPLING, ELBOW @6-@6 PUSH-IN 1 6154028
BLOCK, COVER SENSOR 1 6154004
BRACKET, MOTOR MOUNT 1 6154332
LASER SENSOR 1 6153324
BRACKET, SENSOR HIGH/LOW 1 6154401
MOTOR SOLDER PUMP 1 6153361
BELT PULLEY 1 6153068
KIT SYNCHRO NOZZLE 6155462
CHAMBER
SYNCHRO NOZZLE CHAMBER 1 6152065
M5 STUD, TITANIUM 3 6154476
M5 HEXAGON NUT TITAN 3 6154480
KIT SYNCHRO POT FRONT 6155459
COVER
PLATE, SYNCHRO POT FRONT LID 1 6152069
TUBE, SYNCHRO SOLDER FEED 1 6152062
HOLDER BLOCK 2 6153707
STAINLESS STEEL THRUST PIECE 2 6153523
M4X20 HEX. SOCKET CAP SCREW S.ST A2 2 6153718
M5X12 HEX SCKET SET SCREW S.ST A2 1 6153727
M5 HEXAGON NUT S.ST A2 1 6153730
ELBOW COUPLING R1/8 @6 PUSH-IN 1 6153740
BLOCK, NITROGEN SUPPLY 1 6154023
M4X12 HEX SOCKET CAP SCREW S.ST A2 2 6153716
KIT SYNCHRO POT REAR COVER = 6155458
PLATE, SYNCHRO POT REAR LID 1 6152066
BRACKET, SYNCHRO POT SOLDER 1 6152076
BAFFLE
M5X6 HEX. SOCKET CAP SCREW S.ST A2 2 6153719
TUBE, SYNCHRO SOLDER FEED 1 6152062
WELD ASSY, FEEDING TUBE 1 6154020
BRACKET, HOSE GUIDANCE 1 6154024

June 2024 2



SELECT Synchro Spares List

M5X12 HEX SCKET SET SCREW S.ST A2 1 6153727
M5 HEXAGON NUT S.ST A2 1 6153730
KIT FLANGE SYNCHRO 6155457
FLANGE, SYNCHRO NOZZLE CHIMNEY 1 6152077
M4XxX6 HEX. SOCKET SET SCREW S.ST A2 2 6153726
BUSHING 1 6153702
RETAINING BOLT LONG 1 6153704
RETAINING BOLT 1 6153703
KIT MANUAL CLEANING SET 6155455
NOZZLE CLEANING POWDER 100G 1 6153394
BOTTLE
GLASS FIBER BRUSH FOR WETTABLE 5 6153082
NOZZLES
KIT AUTOMATIC CLEANING SET 6155456
ADAPTER FOR 30CCM CARTRIDGE 2 6153812
NEEDLE FOR GEL-NOZZLE CLEANER 1 7018068
REFILL CARTRIDGE, BOX OF 50 PCS
KIT MAINTENANCE SET 6155454
HEAT-RESISTANT GLOVES; 1 6153240
CARBON/KEVLAR-TEXTILE;
YELLOW/BLACK SIZE 9
DROSS-BOWL,; 24 CM STAINLESS STEEL 1 6153158
18/10; SILK MATT POLISHED
POINTED PLIERS WITH STRAIGHT, 1 6153201
CHROME- PLATED CHEEKS
NOZZLE CLEANING WIRE; STAINLESS 1 6153395
STEEL
DROSS SPOON; STAINLESS STEEL 18/10, 1 6153159
LENGTH: 28,5 CM
SYNCHRO SPARE PART KIT 1 6654420
HIGH TEMP. BALL BEARING 10 6153244
THERMOCOUPLE 2 6153539
SINTERED FILTER 10 6153481
BELT FOR SOLDER POT 10MM 10 6152084
MAGN NOZZLE BODY,FIX,WETT 1 6154665
NOZZ,TITANIUM
PROPELLER WITH AXIS, SYNCHRO 1 6154475
PROPELLER HOUSING 1 6153439
SYNCHRO SPARE PART KIT 2 6654421
HEATER FOR SOLDER POT BOTTOM SIDE 1 6153236
HEATER FOR SOLDER POT LEFT OR 2 6153238
RIGHT
MOTOR SOLDER PUMP 1 6153361
OVER TEMPERATURE SWITCH 1 6153406
CLOSE LOOP PREHEATING SYS 6153115
CLOSE LOOP PREHEATING SYSTEM (PYR) 1 6153116
(EXT)
HOLDER & BRACKET FOR PYROMETER 1 6153246
SYNCHRO SERVICE CART 6154764
NOZZLE CLEANER ASSY
SYNCHRO SERVICE CART NOZZLE 1 Refer to Kit Part
CLEANER ASSY Number
SYNCHRO WIRE FEEDER LARGE 6154765
CARRIER ASSY
SYNCHRO WIRE FEEDER LARGE 1 Refer to Kit Part
CARRIER ASSY Number
SYNCHRO WIRE CUTTER 6154766
STATION CONTAINER
SYNCHRO WIRE CUTTER STATION 1 Refer to Kit Part
CONTAINER Number
SYNCHRO WIRE SENSOR ASSY 6154767
SYNCHRO WIRE SENSOR ASSY 1 Refer to Kit Part
Number
BARCODE HAND SCANNER 6153022
1D/2D CODE HAND READER 1

June 2024 3



SELECT Synchro Spares List

BARCODE SCANNER IN FRONT

OF THE MACHINE

KIT PINS AND NUTS POT COVER

FLUX TANK SYNCHROMOTION

SYNCHRO CONVEYOR BOARD

CLAMPER KIT

SYNCHRO STANDARD / XL
WARPAGE SENSOR KIT

KIT,SYNCHRO STD WARPAGE
SENSOR

KIT,SYNCHRO CAMERA SET

SYNCHRO STND/XL SOLDER
POT CAMERAASSY

SOLDER POT CAMERA LENS
COVER WITH HOLDER

SYNCHRO FLUXER X AXIS
SPARE BELTS SET

6154104

6155461

6154634

6154226

6654793

6654794

6654795

6654796

6654797

6654798

5M SPIRAL CABLE FOR CONNECTION TO
usB

ULTRA COMPACT 1D AND 2D CODE
READER

DEDICATED COMMUNICATION UNIT USB
OUTPUT

FIXED CODE READER ACCESSORY

PIN, THREADED, M5-LH
NUT, KNURLED, M5, SST

FLUX TANK WITH FITTINGS FLUX PUMP,
FLUX BUFFER, FLUX TANK FILTER AND
FLUX PUMP PRESSURE CONTROL.

SYNCHRO CONVEYOR BOARD CLAMPER
KIT

SYNCHRO WARPAGE SENSOR HOUSING
SYNCHRO WARPAGE SHUTTER
SYNCHRO WARPAGE SHUTTER COVER
WARPAGE SENSOR NUT PLATE M3
SYNCRO WARPAGE SHUTTER CYLINDER
BRACKET

SMC MINI CYLINDER CDUJB12-50D

SMC MALE ELBOW AIR FITTING
MODEL:KQ2L04-M3G

DIFFUSE REFLECTIVE SENSOR HEAD
ZX2-LD100L 0.5M, OMRON

AMPLIFIER UNIT ZX2-LDA41 2M, OMRON
SENSOR HEAD EXTENSION CABLE 4M
ZX2-XC4R, OMRON

CAMERA USB 2.0 RESOLUTION 744*480
CAMERA USB CABLE

MINI LENS TBL 16C 5MP M12 IMAGING
SOURCE

SYNCHRO CUSTOMISE CAMERA CABLE
ASSEMBLY

SYNCHRO WARPAGE BOARD SENSOR
MOUNTING BRACKET 2

SYNCHRO WARPAGE BOARD SENSOR
MOUNTING BRACKET 1

SYNCRO SOLDER ZONE CAMERA
MOUNTING BLOCK

SYNCRO CAMERA MOUNTING BRACKET
NORDSON CAMERA SIDE INSULATOR
PLATE

SYNCHRO CAMERA PROTECTION COVER
CAMERA TRANSPARENT GLASS
CAMERA GLASS HOLDER TEFLON

CAMERA TRANSPARENT GLASS
CAMERA GLASS HOLDER TEFLON

1 Refer to Kit Part
Number

Refer to Kit Part

Number

1

4 Refer to Kit Part

4 Number

1 Refer to Kit Part
Number

1 Refer to Kit Part
Number

Refer to Kit Part

RGN RN I Y

Number
1
2
1
1 Refer to Kit Part
1 Number
1
1
1 Refer to Kit Part
Number
1
1
1
11
Refer to Kit Part
1 Number
1
1
1
1
1 Refer to Kit Part
1 Number

June 2024



SELECT Synchro Spares List

SYNCHRO FLUXER X/Y AXIS
DRIVE MOTOR ASSEMBLY

SYNCHRO FLUXER Y AXIS
SPARE BELTS SET

KIT,SYNCHRO FLUXER X-AXIS
DRV SIDE RIGHT

KIT,SYNCHRO FLUXER X-AXIS
DRIVE SIDE SPR

SYNCHRO H TMP CRM GLS BOT
PHTR 484X407X5

KIT,SYNCHRO CONR END CLAM
PUSHER SPR OUT

KIT,SYNCHRO CONR END CLAM
PUSHER SPR IN

KIT,SYNCHRO OUTLET DRV
SHAFT SPROCKET

6654799

6654800

6654801

6654802

6654803

6654804

6654805

6654806

AT5 TRULY ENDLESS TIMING BELT ANTI-
BACKSLASH W10 L390

OISL801993, AT5 OPEN LOOP KTB-AT5-
1580-PU-10

Z---844743, MITSUBISHI 400W SERVO
DRIVE PACKAGE
ALU TIMING PULLEY ID14 WITH KEYWAY

AT5 OPEN LOOP KTB-AT5-2000-PU-10
AT5 TRULY ENDLESS TIMING BELT ANTI-
BACKSLASH W10 L280

HIWIN EG SERIES RUNNER RAIL SIZE 15
(EGR15UB40H)

HIWIN RUNNER BLOCK SIZE 15
(EGH15SAZ0C)

SYNCRO FLUXER X-AXIS LM BLOCK
MOUNTING

RUBBER CUSHIONS (TAKIGEN C-30-CS-8-
EP-UL)

SYNCHRO FLUXER CAMERA CABLE TRAY
SUPPORT

SYNCHRO FLUXER CAMERA CABLE
SPRING STEEL GUIDE

SYNCRO FLUXER X-AXIS STOPPER
BLOCK

HIWIN EG SERIES RUNNER RAIL SIZE 15
(EGR15U640H)

HIWIN RUNNER BLOCK SIZE 15
(EGH15SAZ0C)

SYNCRO FLUXER X-AXIS LM BLOCK
MOUNTING

SYNCHRO X GANTRY LIMIT SENSOR
PLATE

RUBBER CUSHIONS (TAKIGEN C-30-CS-8-
EP-UL)

ICSF6 TIMING BELT HOLDER PLATE 2
ICSF6 TIMING BELT HOLDER PLATE

INCL. WOODEN CRATE PACKING

SYNCHRO CONVEYOR END UHMW GUIDE
B (OPTION 2)
CONVEYOR END UHMW GUIDE C

CONVEYOR END UHMW GUIDE A
SYNCHRO CONVEYOR END UHMW GUIDE
B (OPTION 2)

CONVEYOR DRIVING SPROCKET SHAFT
ROLLER TURNING SUPPORT PLATE
SYNCHRO CONVEYOR CENTER REAR FIX
SUPPORT PLATE

SPROCKET SHAFT 8MM SPACER

NSK BEARING 690277 ID15 OD28 THK7

Refer to Kit Part
2 Number

Refer to Kit Part
Number

Refer to Kit Part
Number

2

1
Refer to Kit Part

2 Number

1

1

1

1

2

1 Refer to Kit Part
Number

1

2

1

1

1 Refer to Kit Part
Number

L Refer to Kit Part

1 Number

1 Refer to Kit Part
Number

1

1

1 Refer to Kit Part
Number

1

2

June 2024



SELECT Synchro Spares List

CONVEYOR FINGER GUIDE PLATE 1
SPROCKET SHAFT 6MM SPACER 1
MINIATURE FEEDING ROLLER DRIVE 1
PULLEY (PD32)
M12 HEX LOCK NUT W/NYLON INSERT 1
OLDHAM COUPLING (SOHM-32C- 6654807
12-12)
OLDHAM COUPLING (SOHM-32C-12-12) 3 Refer to Kit Part
Number
KIT,SYNCHRO CONR INLET 6654808
FEEDING ROLLER
MINIATURE FEEDING ROLLER MOUNTING 1
BLK
MINIATURE FEEDING ROLLER 1
MINIATURE FEEDING ROLLER BEARING 1
HOUSING

BEARING 680027 (ID10, OD19 ,T5) - FBJ 2

MINIATURE FEEDING ROLLER SHAFT 1

ID 11 OD 14 L7TMM SPACER 1 Refer to Kit Part
BOARD INLET GUIDE 1 Number
MINIATURE FEEDING ROLLER MOUNTING 1

BKT A
MINIATURE FEEDING ROLLER COVER L 1
MINIATURE FEEDING ROLLER DRIVE 1
PULLEY (PD16)

MINIATURE FEEDING ROLLER BEARING 1

HOUSING SPACER
KIT,SYNCHRO, CONVEYORAUTO 6654810
WIDTH CHANGE

CONVEYOR WIDTH MOTOR CONVERTOR 1
PLATE Refer to Kit Part
CONVEYOR MOTOR SPACER 4 Number
TIMING PULLEY T5/15A ID10MM 1
KIT,SYNCHRO FLUXER, Y-AXIS 6654811
ASSEMBLY SPR
HIWIN EG SERIES RUNNER RAIL SIZE 15 1
MGN12C RUNNER BLOCK 2 Refer to Kit Part
HIWIN GUIDE RAIL SIZE 12 L-850 1 Number
HIWIN RUNNER BLOCK SIZE 15 2
SYNCHRO CONVEYOR AUTO 6654812
TENSION ASSEMBLY
SYNCHRO AUTO TENSION BRACKET 1
SYNCHRO AUTO TENSION MOUNTING 1
BLOCK
CONVEYOR AUTO TENSION SPRING 2 Refer to Kit Part
SYNCHRO AUTO TENSION SHAFT DIA10, 2 Number
L63MM
TENSIONING GUIDE PUSHER 1
CHAIN TENSIONER ASSY MOUNTING BLK
KIT,SYNCHRO CONVEYOR FIX 6654813
RAIL CHAIN GUID
CONVEYOR RS35 PIN CHAIN GUIDE RAIL 1
(OUTLET)
SYNCHRO XL CONVEYOR RS35 PIN CHAIN 2
GUIDE RAIL
CONVEYOR RS35 PIN CHAIN GUIDE RAIL 1
(INLET)
CONVEYOR RS35 PIN CHAIN EXIT GUIDE 1 Refer to Kit Part
SYNCHRO XL CONVEYOR RS35 PIN CHAIN 1 Number
GUIDE RAIL B
CHAIN END GUIDE BLOCK B 1
CHAIN END GUIDE BLOCK A 1
SYNCHRO XL CONVEYOR RS35 PIN CHAIN 2
GUIDE RAILA
SYNCHRO XL CONVEYOR RS35 PIN CHAIN 1
GUIDE RAILC

June 2024 6



SELECT Synchro Spares List

SYNCHRO CONVEYOR CHAIN
SET

TIMING BELT SYNCHRO

CONVEYOR WIDTH

KIT,SYNCHRO Y-AXIS GUIDE
RAIL SPARE

KIT,SYNCHRO Y AXIS BALL

SCREW SPARE

KIT,SYNCHRO Z-AXIS DRIVE
BALL SCREW SPR

KIT,SYNCHRO Z-AXIS DRIVEN
BALL SCREW SPR

KIT,SYNCHRO HEATER ELEMENT
WITH BRACKET

SYNCHRO H TMP CRM GLS TOP
PHTR 410X110X5

SYNCHRO WIRE CUTTER
ASSEMBLY

6654814

6654815

6654819

6654821

6654825

6654826

6654827

6654828

6654829

CONVEYOR RS35 PIN CHAIN ENTRANCE
GUIDE
SYNCHRO CONVEYOR UHMW GUIDE

HANKUK KOREA RS35 PIN CHAIN WITH
5MM LENGTH PIN

RS35 PIN CHAIN CON-LINK WITH 5MM
LENGTH PIN

T5 JOINT TIMING BELT W10 L4630

HIWIN EG SERIES RUNNER RAIL SIZE 15
HIWIN LM GUIDE BLOCK SIZE 15

HIWIN BALLSCREW ASSEMBLY 15X16 L863
ANGULAR BALL BEARING B7201 DF (NSK)
BEARING 620127

M12 X 1.0 LOCK NUT WITH COPPER PLATE

BEARING 620122
FAG ANGULAR CONTACT BALL BEARING
T5/20-B TIMING PULLEY ID10 KEYWAY 4
T5/20-B TIMING PULLEY ID10 KEYWAY 4
(WIDTH 19MM)

HIWIN BALLSCREW ASSEMBLY 15X10 L349
Z-AXIS BALL SCREW LOCK NUT SPACER
9.0MM

M12 X 1.0 LOCK NUT WITH COPPER PLATE

BEARING 62012Z

FAG ANGULAR CONTACT BALL BEARING
T5/20-B TIMING PULLEY ID10 KEYWAY 4
(WIDTH 19MM)

HIWIN BALLSCREW ASSEMBLY 15X10 L329
Z-AXIS BALL SCREW LOCK NUT SPACER
9.0MM

M12 X 1.0 LOCK NUT WITH COPPER PLATE

IR PREHEATER LAMP NOVO 300
HOLDER QUARZ RADIATOR

SYNCHRO HIGH TEMP CERAMIC GLASS
(410X110X5MM)
INCL. WOODEN CRATE PACKING

SYNCHRO SOLDER FEEDER AND CUTTER
MAIN PLATE

SYNCHRO CUTTER KNIFE MOUNTING
SYNCHRO SOLDER CUTTER MOTOR
PLATE

HARDENED SHAFT DIA 10 L85

LINXENS SOLDER CUTTER BEARING
HOUSING

SYNCHRO CUTTER OFFCENTER BUSHING
SYNCHRO WIRE FEEDER TENSIONER
PIVOT ARM REV2

6m

A AN

_ A A a

Refer to Kit Part
Number

Refer to Kit Part
Number

Refer to Kit Part
Number

Refer to Kit Part
Number

Refer to Kit Part
Number

Refer to Kit Part
Number

Refer to Kit Part
Number

Refer to Kit Part
Number

Refer to Kit Part
Number

June 2024



SELECT Synchro Spares List

Individual Part List

The following items are sold individually.

PROPELLOR WITH AXIS, SYNCHRO
PROPELLER HOUSING

HIGH TEMP. BALL BEARING

HEATER FOR SOLDER POT BOTTOM SIDE
HEATER FOR SOLDER POT LEFT OR RIGHT
MOTOR SOLDER PUMP
THERMOCOUPLE
FLOATER SET, SYNCHRO

BELT FOR SOLDER POT 10MM

OVER TEMPERATURE SWITCH

MAGN NOZZLE BODY,FIX,WETT
NOZZ,TITANIUM

LINXENS WIRE FEEDER TENSION SPRING
PIVOT

LINXENS SOLDER CUTTER SHAFT
MOUNTING 1

LINXENS SOLDER CUTTER SHAFT
MOUNTING 2

LINXENS CUTTER KNIFE EDGE GUIDE
SYNCHRO WIRE FEEDER WIRE GUIDE 1
REV2.1

LINXENS FEEDER WIRE GUIDE HOLE=5.0
REV2

IGUS LINEAR PLAIN BEARING RJUM-11-10
B 19 CIRCLIP

SHOULDER BOLTS D=8 L=10 M6 [MSB8-10]
ELITE COMPRESSION SPRING WD=2.2 ID
6.6 FL=36.5 (ESC-110220-3)STAINLESS
STEEL

SHOULDER BOLTS D=6.5 L=15 M5
[MSB6.5-15]

SOLDER WIRE ROLLER PRESS GUIDE
606ZZ BEARING (W/0 FLANGE)(ID6, OD17,
T6)

CO END PULLEY BEARING SPACER 1.5MM
SPUR GEAR MODULE 1.0MM T17 BORE=6
BEARING 6882Z FUJ (ID8, OD16, T5)
LINXENS CUTTER POSITION SENSOR
PLATE

SOLDER FEEDER SENSOR PLATE

SS CLAMP KNURL KNOB FEMALE M5
(KNBS5-16)

M5X65 STUD FOR STAR KNOB

BALL PLUNGER BST 4

SCHLEUNIGER PS6500 V TYPE WIRE
CUTTING BLADE

P&F GAP SENSOR 803112, GL5-U/28A/155
SYNCHRO CUTTER PROTECTIVE NEW
COVER 1

SYNCHRO CUTTER TRANSPARENT
COVER

MD1@SKETCH2 X D1@LENGTH EXTRUDE
BUTTON SCREW

M4 FLAT WASHER OD9.7 ID4.5 T0.8
WIRE CUTTER ASSY LONG NUT

SOLDER FEEDER INLET WIRE GUIDE
SYNCHRO PLATE SERVICE CART MOTOR
COVER

6154475
6153439
6153244
6153236
6153238
6153361
6153539
6154193
6152084
6153406
6154665

N

N = A a NN

AN A

-

aAaaaN

June 2024



SELECT Synchro Spares List

GAS CONE DIAMETER: 15MM, HIGH HEIGHT
GAS CONE DIAMETER: 25MM, HIGH HEIGHT
GAS CONE DIAMETER: 35MM, HIGH HEIGHT
GAS CONE DIAMETER: 20MM, SHORT HEIGHT
GAS CONE DIAMETER: 25MM, SHORT HEIGHT
GAS CONE DIAMETER: 30MM, SHORT HEIGHT
FILTER, SINTERED

MAGN NOZZLE INSERT WETT 3(0.118")/2/45
MAGN NOZZLE INSERT WETT 5(0.197")/2,5/45
MAGN NOZZLE INSERT WETT 6(0.236")/3/45
MAGN NOZZLE INSERT WETT 8(0.315")/4/45
MAGN NOZZLE INSERT WETT 10(0.394")/5/45
MAGN NOZZLE INSERT WETT 12(0.472")/7/45
MAGN NOZZLE INSERT WETT 14(0.551")/9/45
MAGN NOZZLE INSERT WETT 16(0.630")/11/45
MAGN NOZZLE INSERT WETT 18(0.709")/14/45
MAGN NOZZLE INSERT WETT 20(0.787")/15/45
MAGN NOZZLE INSERT WETT 25(0.984")/20/45
GEL-NOZZLE CLEANER REFILL CARTRIDGE
BELT IN/OUTGOING CONVEYOR SYNCHRO
MINIATURE FEEDING ROLLER ROUND BELT
(MBT3-195)

CALIBRATION PCB 400X420MM

TIMING BELT SYNCHRO CONVEYOR WIDTH
IMING BELT SYNCHRO Z-AXIS T5/2520
TIMING BELT SYNCHRO Z-AXIS MOTOR
T5/340L

OLDHAM COUPLING SNYCHRO Y-AXIS
LINEAR BLOCK SYNCHRO X-AXIS

GUIDE RAIL SYNCHRO Z-AXIS L:176 SIZE 15
GUIDE BLOCK SYNCHRO Z-AXIS

VALVE TO FILTER MICRO TUBE

ICSF-N099-S GLASS TUBE

FLUXER SLIDING LIP ASSEMBLY

FLUXER HEAD TOP COVER ASSEMBLY
FLUXER HEAD ACTUTOR (ICSF-N020-P-22)
FLUXER HEAD SLIDER CONTROL ASSEMBLY
SYNCHRO FLUXER VALVE MOUNT ASSEMBLY
SYNCHRO FLUXER, LASER DROPLET SENSOR
AND MINIFOLD

SYNCHRO FLUXER, FILTER HOUSING
SYNCHRO FLUXER, PCB w MOUNTING
HOUSING

KEYENCE PCB LASER SENSOR w WIRE
KEYENCE CMOS LASER SENSOR REFLECTIVE
CABLE TYPE

M3 SERIES 3 CENTRAL RELEASE

OMRON CP1L EXPANSION 1/0O UNIT
KEYENCE LASER SENSOR (LV-S71) C/W
AMPLIFIER

OMRON CP1L-L20DT-D

BECKHOFF CU2016 16 PORTS ETHERNET
SWITCH

WAGO-HUB FOR INTERNAL NETWORK

MEAN WELL 24DC POWER SUPPLY
PKP569FN24A2+CVD524B-K+LC5NOGE

MEAN WELL 24DC POWER SUPPLY, 480W
SMC - 2 COLOUR DISPLAY DIGITAL FLOW
SWITCH-ANALOG

OM AZ SERIES 60 MM STEPPER MOTOR
W/ABSOLUTE ENCODER W/GEARHEAD 1:25
C/W DRIVER

BMU SERIES GEAR MOTOR 60W 1:20 GEAR
RATIO+SPEED CONTROLLER

6153207
6153209
6153211
6154153
6154154
6154155
6153481
6153618
6153619
6153620
6153621
6153622
6153623
6153624
6153625
6153626
6153627
6153628
6153805
6154657
6654809

6154161
6654816
6654817
6654818

6654820
6654822
6654823
6654824
6655062
6655063
6655064
6655065
6655066
6655067
6655068
6655069

6655070
6655071

6655072
6154052

6153955
6154709
6154713

6154649
6154179

6155476
6154719
6154646
6154722
6154723

6154724

6154725

June 2024



SELECT Synchro Spares List

BLH SSERIES 15W DC GEAR MOTOR 1:100
GEAR RATIO+24VDC ANALOGUE DRIVER
SHUTTLE DH670 SLIM PC / INTEL CORE 19-
12900 16C 24T 5.1GHZ MAX

BCS001Y CAPACITIVE SENSORS

MOTOR SET (PKP566N28A2-TS10 +CVD528B-K
+ LC5NOBE)

CP1W-16ET (16 POINTS EXPANSION OUTPUT -
NPN)

SINGLE-FUNCTION SAFETY RELAYS, ALLEN
BRADLEY MODEL 440R-N23114

OM BLM SERIES 42 MM DC BRUSHLESS
MOTOR W/GEARHEAD 1:100 C/W DRIVER +
CABLE

P2319H DELL 23" 1920X1080 WALLMOUNT
BLACK

MITSUBISHI 400W SERVO DRIVE PACKAGE
PHOENIX CONTACT MINI MCR-SL-PT100-Ul
PT100 TRANSDUCER

OM 60 MM STEPPER MOTOR W/ ABSOLUTE
ENCODER AND BREAK SET C/W DRIVER
CC100VZRB (10M ROBOTIC CABLE FOR AZ
SERIES, AC INPUT ELECTRO MAGNETIC
BRAKE TYPE)

OMRON EXPANSION 1/0 UNIT CP1W-20EDRH1
(20 POINTS)

OMRON,CP1H-XA40DT-D (WITH ANALOG 1/0)
CP1L/ CP1H ETHERNET/IP ADAPTER/CP1W-
EIP61

CC100VZR (10M ROBOTIC CABLE FOR AZ
SERIES, AC INPUT STANDARD TYPE)

OM 60 MM STEPPER MOTOR W/ ABSOLUTE
ENCODER SET C/W DRIVER

CCO70VZR (7M ROBOTIC CABLE FOR AZ
SERIES, AC INPUT STANDARD TYPE)

6154726
6154214

6154727
6154728

6154730

6154031

6154737

6154738

6154647
6153951

6154746

6154747

6154655

6154648
6154178

6154757

6154758

6154759

June 2024

10



